The group G is isomorphic to the group labelled by [ 14, 2 ] in the Small Groups library.
Ordinary character table of G = C14:

la Ta 7 Tc 7d Te 7f 2a l4a 14b 14c 14d 14e 14f
x1 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1
x2 | 1 1 1 1 1 1 1 -1 -1 -1 -1 -1 -1 -1
v |1 E(M E(M? EMP EM* B EM® 1 BT E(M? E@P  EM' E1P BTN
xa | 1 ET EM?* ET EM* EM EMS -1 —-E(7) -E(M? —-ET7)? —-E(M* —-EM® —-E(7)°
v |1 EM? EM' EM® E(M EMP BT 1 EM  EM' EM BT BT E(T)P
vo |1 E(M? EM' EM® E(M) EMP BT -1 -E@)? -EM' —ET° -BE(7) —B7)? —B7)
o |1 E(M® BMS EM? EM BT EM 1 B@  EM° EM  BET° BT E7)
xs | 1 E(M? EM° ET? ET)° E(7) ET)! -1 -ET)°? -EBET° -ET? -ET° -B(7) -—E)"
v |1 B@* E(M EM° EM EM° EMP 1 BM BT EM° EM B BT
x| 1 E@M' B(7) ET)® ET)? ET)° ET7)?° -1 -BEM' -E(T) -ET)° -ET? -ET)° -E(T)?
xu | 1 E(7)° E@® ET) ET° EM* B(7)? 1 ET)° BT BT BN BT EB(7)?
xi2 | 1 E(7)° EM® BT ET° EM' B(7)? -1 -E(1)° -EBE(7)° -B(7) -EBE()° -BE(7)" —EB(7)
xis| 1 E(M° EM> BT ET)? ET)? BE(7) 1 ET° BT BT BT  BE(7)?  E(T)
xia | L EM® E@® EM' E@® EMM* E(T) -1 —-BE(M° -ET)° -EM' -EBET)° -EBET? -E®)
Trivial source character table of G =& C14 at p = 2:

Normalisers N; Ny

p-subgroups of G up to conjugacy in G P,

Representatives n; € N; la 7a 7 Tc 7d Te la Ta Te

T-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x0+0-x10+0-x11+0-x12+0-x13+0"x14 2 2 2 2 2

OO DO OO OO

2
0-x1+0-x24+1-x3+1-xa+0-x54+0-x6+0-x7+0-xs+0-X0+0-x10+0-Xx11+0-x12+0-x13+0-x14 | 2 2xE(7) 2xE(7)? 2xE(7)* 2«xE(7)* 2+E(7)> 2xFE
0-x1+0-xa+0-x3+0-xa+1-x5+1-x6+0-x7+0-xs+0-Xo+0-x10+0-x11+0-x12+0-x13+0-x14 | 2 2% E(7)*> 2+E(7)* 2xE(7)° 2+E(7) 2xE(7)?® 2xE
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+1-x7+1-xXs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14 | 2 2xE(7)? 2xE(T)°® 2xE(7)> 2+xE(7T)> 2xE(7T) 2xE
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+1-xo+1-Xx10+0-x11+0-x12+0-x13+0-x14 | 2 2xE(7)* 2xE(7) 2xE(7)° 2xE(7)? 2xE(7)°® 2xE
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-xo+0-x10+1-x11+1-x12+0-x13+0-x14| 2 2xE(7)° 2xE(7)3 2xE() 2xE(7°® 2xE(T)?* 2xFE
0-x14+0-x24+0-x3+0-xa+0-x5+0-X6+0-x7+0-Xxs+0-xo+0-x10+0-Xx11+0-x12+1-x13+1-x14| 2 2xE(T)° 2xE(7)° 2xE(T)?* 2xE(7)®> 2xE(7)> 2xE(7)
T-x1+0-x2+0-x3+0-x4a+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14| 1 1 1 1 1 1 1
0-x14+0-x24+1-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x94+0-x10+0-x114+0-x12+0-x13+0-x14 | 1 E(7) BE(7)? E(7)? E(7)* E(7)° E(7)
0-x14+0-x2+0-x34+0-xa+1-x5+0-x6+0-x7+0-xs+0-X90+0-x10+0-x11+0-x12+0-x13+0-x14 | 1 E(7)? E(7)* E(7)¢ E(7) E(7)3 E(7)
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+1-x74+0-xs+0-x0+0-x10+0-x11+0-x12+0-x134+0-x14 | 1 E(7)5 E(7)6 E(7)2 E(7)5 E(7) E(7)
0-x1+0:-x2+0-x34+0-x4+0-x5+0-x6+0-x74+0-xs+1-x0+0-x10+0-x11+0-x12+0-x135+0-x14 | 1 E(7)* E(7) E(7)° E(7)? E(7)8 E(7)
0-x1+0:-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+1-x11+0-x12+0-x13+0-x14 | 1 E(7)° BE(7)? E(7 E(7)° BE(7)* E(7)
0-x14+0-X24+0-x3+0-xa+0-x5+0-X6+0-X7+0-x3+0-xo+0-x10+0-x11+0-x12+1-x134+0-x14 | 1 E(7)S E(7)° E(7)* E(7)? E(7)? B(7
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Py = Group(()]) = 1
P, = Group([(1,2)]) = C2

Nl = Group([(l, 2) (37 43 55 67 77 87 9)]) =
Nz = Group([(1,2),(3,4,5,6,7,8,9)]) = C14



